Unit 2 Exam Review Key
1) D
2) A
3) D
4) B
5) A
6) D

7) B

8) C

9) C

10) D

11) B

12) B

13) C

14) B

15) B

16) longer, indirectly
17) hertz

18) wavelength

19) ground state
20) frequency

21) red
22) 26, 55.85 amu
23) valence electrons

24) electronegativity
25) ionization energy
26) 1s22s22p63s23p2
27) atomic radius

28) ion

29)  Sr: 5, s
Kr: 4, p
Cr: 4, d
30)  Mn: (Ar)4s23d5
Group 5, 3rd period does not exist! 
Hg: (Xe)6s24f145d10
31) B, E, C, D, A
32) D, A, B, C, E

33)  Lithium; 3; Li+; 1s2
Oxygen; 8; O-2; 1s22s22p6
Sulfur; 16; S-2; 1s22s22p63s23p6
Aluminum; 13; Al+3; 1s22s22p6
34) 3.0 x 108 m/s
35) Mg+2; satisfies octet rule

36) Ca+2; more protons pulling on e-

37) F; more protons ( e- more strongly   attracted

38) Octet rule

39) ductile, malleable, luster, good conductors of heat and electricity

40) ductile

41) Mendeleev: increasing atomic mass

     Current PT: increasing atomic #

42) Na, less protons “pulling” on e- 
43) transition metals: harder & denser

44) down a group: decreases, e- in                                                             higher E levels

      across a period: increases, more p+ 
in nucleus

45)  cations: smaller than neutral atom

       anions: larger than neutral atom

46) C, Mg, Si, Fe, Cu, Cr, Hg

47) Answers vary

48) physical property; can be measured without changing identity

49) light, temperature change, 
precipitate, color change, 
bubbling, smoking, odor

50) 323.48 g/mol

51) 43.2 g

52) 7.047 x 1014 Hz

53) 1.76 x 10-18 J

54) 524 nm

55) Answers vary 

